Math 109  Quiz 6    10/17/06  
 1.   In 1959 Roger Bannister ran a mile in 3 minutes 59.4 seconds (239.9 seconds) to break the 4 minute mile for men. Since then about 0.3 seconds have be taken off the world record for the mile.  If R is the world record (in seconds) and x the number of years after 1959, then this can be represented by R =  239.4- 0.3x .  Using this equation, when would you predict someone will run a 3 minute (180 seconds) mile?    2157 (198 years after 1959)
2.  The number of power outages  in a village is as follows:

                1999      2000    2001      2002    2003
                 -------------------------------------------

                 20           19        16          13        12
Let x=1 correspond to 1999.  Find the straight line model for this data using the first and last years’ information. Then use this model to predict the number of fires in 2004.   
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4.  Solve the inequality     5<4x-3 (13.
                            2 < x ( 4
5.  Solve the inequality     (y-7( > 10
                        y>17  or  y<-3
